1.

(2x+b)? =ax® +4x+1 4 W, &=

D 1 ® 2 3 3

a, b o &



2.

& FolA A

D (x-y)?
@ —(x+y)?

& W] BAAO] (—x+y)? T 2L A

@ (x+y)?

® (-x-y)?

@ —(x-y)?



3.

(x - 2)(x +2)(x2 + 4) & AASHA?

O x*-4 @ x*-16

@ xt-8 ® xt-16

@ xt-4



2t a+b 9

sl

¥ +ax+b W, A a b9

7)

3 (e

(+-

4.

o|J



e A AT W, x o AGTL AV 2 ALY

® Bx+1)(3x-1)

@ (3x-1)?

@ Bx+1)(x+3)



x4 2)(x 4 3)(x — 2)(x = 3) &) HAA A 2] A5} 439

D -6 ® 6 A 12 @ 18 B 23



x—y=5x2+y?=9 < 0, xy°

7.

® -10 @ -12 B -14

® -8



8. axb=(a+b)?02 HOAT W], 2xx (—y) + x * 2y E 7rH5| 5}FA??

D 2x2 +2y? @ 3x% +3y? B 4x2 + 4y?

@ 5x2 + 5y? ® 6x2 + 6y?



9. (2-1)(Q2+1)(22+1)(2* +1)& o] 5FH?

@D 63 ® 65 A 127 @ 129 B 255



10] x2 +bx—12 o|th,

% 4]

%

.

Ul



11. (2x-1)(2x+A) = (-2x+2)?+ Bx & @, A - B ] #1-2?

D -4 ® -2 3 0 @ 2 B 4



12. o5 AAAE A AHd 2 WolE a, bE AT A oR

W

S SR

-

@ a® + 2ab + b?

@ a? + b2

~———_q---

@ a?® - 2ab + b?
B 2ab

-

\@/

® a?-b?



13, (x-1)(x=2)(x +2)(x + 3) = ANFALS wf x 2] A5 F5loizt,

>R
=%



14, (x+1)(x+2)(x—3)(x—4) 2] HAAA A x2 0] A=

D =12 o -7 3 3 @ 6 B 8



15. (a+b)(a-b)=a®-b* = °]&sto Atstr] 7 dote A2

O 1982 @ 1012 ® 47x53

@ 101 x 103 ® 203 x 302



16. TS AloA] 364 & x 2 Slo] FA FAS o]85to] AAtsHH?

364 x 366 — 728 — 363 x 365

D 1 @ 2 3 3 @ 4 B 5



17. o A< Atstolt,

T(8 4 1)(82 + 1)(8% +1) — 88




18. (3a—2b+1)(3a+2b-1) & AASIA?

® 3a®-2b2-1 @ 9a® - 4b* -1
® 9a® +2b-2b> -1 @ 9a% +2b - 4b* - 1

B 9g2 —4p2 +4p -1



A=
<= B,

x 9 A

Fe o 2 o ASE A,

kol
o, A+ B+ C 2 %

A

o
=

x—2y-1)2

sholat,

:’7_

O
=

St
=

C =t



20. 7+&9] Zo]7} xem , A22] Z0]7} yem (x> y ) 9 HAH]

A G D

, A
Id N

7 H F

@ (=% + 2*)em? @ (= = 2)em?

® (=x% + 3xy — 2y?)em? @ (-x*+ 6xy — 2y*)cm?

® (=x2 + 9xy — 2y?)cm?



